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UGC NET PAPER 2 JULY 8, 2018 SHIFT 1 LAW QUESTION PAPER

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following is not included in the definition of law under Article 13 of the
Constitution of India ?
(1) Legislation (2) Customs
(3) Usage having no force of law (4) Ordinance

2.  Which of the following Article of the Constitution uses the term ‘martial law’ ?
(1) Article 33 (2) Article 34 (3) Article 352 (4) Article 353

3. Read Assertion (A) and Reason (R) and give correct answer by using the code given
below :

Assertion (A) : A person shall be disqualified for being chosen as, and for being, a member
of either House of Parliament if he holds any office of profit under the
Government.

Reason (R) : If “pecuniary gain’ is receivable in connection with the office. Then it shall
not become an office of profit, irrespective of whether such gains are actually
promised or not.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A) is correct and (R} is incorrect.

(4)  (A) is incorrect but (R) is correct,

4.  Which of the following statement/statements is/are incorrect ? Give answer by using the

code given below :

(@) The election of the President shall be held in accordance with the system of proportional
representation by means of single non-transferable vote.

(b) The President may resign, by writing under his hand addressed to the Chief Justice of
India.

(c) No resolution to remove the Vice-President of India from his office, shall be moved
unless at least thirty days notice has been given to him,

(d) Vice-President shall, not with standing the expiration of his term, continue to hold
office until his successor enters upon his office.

Code :

(1) (a), (b), (c) and (d) are incorrect

(2) (a), (b) and (c) are incorrect

(3) Only {a) and (b) are incorrect

(4) Only (a) is incorrect
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Match List-I (name of the case} with List-II (related subject} and give correct answer by
using the code below :
List-1 List-1L

(a) K.M, Nanawati Vs. State of Bombay (i) Right to life

(b) Ram Prasad Vs. State of U.P. (i) Power to pardon

(c) Lily Thomas Vs. Union of India (i) Fundamental Duties

(d) Dr. P. Naller Thampy Terah v. Union of India (iv) Disqualification of members
Code :

@ ®) (© (@

) @) @) ) @)
@ O @ @ @
) @) () () ()
) @) @ @) )

6.  Which of the following case is not related to ‘“Theory of basic structure” under Article 368 of
the Constitution ?

(1) Minerva Mills Vs, Union of India

(2) Waman Rao Vs. Union of India

(3) L. Chandra Kumar Vs. Union of India

(4) T.K. Rangarajan Vs. Government of Tamil Nadu

7.  Which of the following is incorrect in relation to the declaration of financial emergency by
the President under Article 360 of the constitution ? |

(1) It shall cease to operate at the expiration of one month unless approved by both Houses
of Parliament.

(2) Salary and allowances of persons serving in connection with affairs of state may be
reduced.

(3) It may be revoked or varied by a subsequent proclamation by President.
(4) Salary and allowances of the Judges of Supreme Court and High Courts may be reduced.

Which of the following statement/statements is/are correct ? Give correct answer by using
the code given below :

(a) An ordinary Bill can only originate in council of states

(b) A Bill pending in House of people shall not lapse by reason of the prorogation of the
House

(c) A Bill pending in the council of state which has not been passed by the House of people
shall not lapse on a dissolution of the House of the people

(d) A Bill pending in the House of people shall not lapse by reason of the dissolution of the

House.
Code :
(1) (a) and (b) are correct (2) (b) and (c) afe correct

(3) (a) and (d) are correct (4) (b) and (d) are correct
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() e ¥ wfag fades 989 % fager 89 % TR0 AW 18 g
o
(1) (@) 3R (b) T & (2) () 3R () 5@ F)
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In which of the following case the Parliament has no power to legislate on the state list ?
(1) Consent of two states

(2) Implementing international agreements

(3) Emergency is in operation

(4) In the Public interest if so declared by council of states

Match List-I (name of case} with List-II (related subject) and give correct answer by using
the code below :
List-I List-II
(a) Union of India Vs. Sankalchand Seth (i) Power to do complete justice
(b) Leila David Vs. State of Maharashtra (ii) Foreign Precedent
() BS.ES. Ltd. Vs. Fenner India Ltd. (iii) Power to punish for contempt
(d) Darsan Gupta Vs. Radhika Gupta (iv) Appointment/Transfer of Judges
Code :
@ ® () @

O ) @ @ 0
@ O @ @ @
@) @ O @) G
@ @ @ O @

Which of the following case is not related to the Parliamentary previleges ?
(1) M.S.M. Sharma Vs. Sri Krishna Sinha

(2) State of Karnataka Vs. Union of India

(3) Jatish Chandra Ghose Vs. Harisadhan Mukherjee

(4) State of Tamil Nadu Vs, K. Shyam Sunder

Which of the following statement/statements is/are correct 7 Answer by using code given

below :

(@) It shall be the duty of every citizen to respect the country and abide by the constitution.

(b)  All minorities, whether based on religion or language, shall have the right to establish
and administer educational institutions of their choice.

() The state shall in particular, take steps for preserving and improving the breeds, and
prohibiting the slaughter of cows and calves and other milch and draught cattle.

(d) No law here after enacted by the legislature of Jammu and Kashmir shall be void on
the ground that it is inconsistent with any rights conferred on other citizens of India by
any provision of part - Il of the Constitution.

Code :

(1) Only (a) and (b) are correct
(2) Only (c) and (d) are correct
3) (), (b) and (c) are correct

(4) (a), (b), (c) and (d) are correct
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Which one of the following Jurists distinguished between “expositorial’ jurisprudence (What
the law is) and ‘Censorial’ jurisprudence (What the law ought to be) ?

(1) John Austin (2) Hans Kelsen
(3) Jeremy Benthem (4) H.L.A. Hart

‘Now, natural law is not considered as absolute but as relative. It is natural law with variable
contents.” This observation specifically relates to :

(1) Dabin (2) Stammler (3) Finnis (4) Acquinas

According to Professor Hart the meaning of the term ‘Positivism” includes :
(a) Laws are commands.
(b) The analysis of legal concepts is distinct from sociological and historical inquiries.

(¢) Moral judgments cannot be established or defended by rational argument, evidence or

proof.

(d) The law as it is actually laid down, has to be kept separate from the law that ought to
be.

Code :

(1) Only (a) and (c) are correct

(2) Only (a), (b) and (d) are correct
(3) Only (a), (c) and (d) are correct

(4) (a), (b), (c) and (d) all are correct

Match List-1 with List-Hl and give the correct answer by using the code given below :

List -1 List-11
(Theory) (Jurist)
(a) Theory of social solidarity (i)  Ehrlich
(b) Theory of categorical Imperative (ii) Duguit
(¢) Imperative Theory of Law (iti) John Austin
(d) Theory of Living Law {(iv) Emanual Kant

Code :

@ B © @
(1) vy @& (i) (i)
2 @) Gy @
3) @) (@) ) @
4) @ @) @v) (i)
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Match List-I with List-II and give the correct answer by using the code given below :

List - I List-I1
(Book) (Author)
(@) The Growth of the Law (i) Gray
(b) Foundations of Jurisprudence (i) R. Dworkin
(¢) The Nature and Sources of Law (iii) Cardozo
(d) Taking Rights Seriously (iv) Jerome Hall

Code :
(a) () (o) (@

© O @ @ @
@ @) @ 6 @
@) @ @ @ W
@ ) O @ @

Which one of the following are the two main theories of legal right ?
(1) Interest Theory and Fiction Theory

(2)  Realist Theory and Will Theory

(3) Bracket Theory and Interest Theory

(4) Interest Theory and Will Theory

Which of the following is not a theory relating to corporate personality ?
(1)  Fiction Theory (2) Realistic Theory
(3) Purpose Theory (4) Functional Theory

Match List-I with List-II and give the Jural correlatives by using the code given below :

List - I List-I1
(a) Claim (i) Noclaim
(b) Liberty (i) Disability
(¢) Power (iii)y Duty
(d) Immunity (iv) Liability
Code :

@ ® © (@
O @ @ 6 W
@ @ 6 @ @
@) @ @) @ @
@ O @ @) @
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‘X, a servant, finds a bag at the basement of the shop. He hands it over to “Y’, the owner of
the shop, who asks him to place it in the almirah. Now, the bag is in possession of :

(1) ‘X, because he was the finder.

(2) 'Y, because he was the owner of the shop.

(3) Y’ because in him there was corpus and animus.
(4) ‘X, because he kept it in the almirah.

Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Laws are valid only if they are just.

Reason (R) :  The aim of law is to secure justice.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R} is false:

(4) (A) is false, but (R) is true,

Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Judges must follow authoritative precedents.

Reason (R) : Authoritative precedents derive their authority from basic postulates of the
legal system itself.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R} is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4)  (A) is false, but (R) is true.

Which of the following statement/statements is/are correct ?
(a) Hobbes, Austin and Pufendorf subscribe to the view that law “Properly so called” in

command of the sovereign and enforced by a superior political authority and hence
deny legal character of International law.

(b) Oppenheim has remarked that International law is the vanishing point of Jurisprudence.
(c) Holland subscribes to the view that International law is really law.

(d) Starke has expressed the view that International law is a “Weak law”.

Code :

(1) Only (a) is correct

(2) (a) and (d) both are correct

(3) (a), (b), (c) are correct

(4) (a), (b), (c) and (d) all correct
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W A X GFH & dHHE § T 9 IR S| A% 3 g % I Y S |9 < 2, Sl S 39
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(4) (A) T g 7R (R) WE R
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‘Triepel” and ‘Anzilloti” are the exponents of which of the following theory of Relationship
between International law and Municipal law ?

(1) Monism (2) Dualism
(3) Specific Adoption Theory (4) Delegation Theory

Which one of the following is one of the Chief Exponents of ‘Constitutive Theory’ of
Recognition ?

(1) Pit corbett (2) Kelson (3) Hegel (4) Hall

Which of the following statément/statements is/aré not corfrect 7

(@) Inaccordance with the provisions of Article 7 of the United Nations Charter, the Security
Council is one of the Principal organs of the United Nations.

b) The First Security Council came into being on 129 January, 1946.
ty 8 ry

(c) At Dumbharton proposals, it was finally decided to establish such as an organ in the
form of the Security Council

(d) Tennon-permanent members of the Security Council are elected by the General Assembly
for 5 years.

Code :

(1) Only (c) is not correct

(2) (¢} and (d) are not correct

(3) (a), (b), (c) are not correct

(4) (a), (b), (c) and (d) all are not correct

Match List-I with List-II and give the correct answer by using the code given below :

List-1 List-1I
(Provisions) (Articles of statute of court of International Justice)
(a) Law applied by the International (i)  Article 41
Court of Justice
(b) Binding force of the decision of (i)  Article 62
International Court of Justice
(c) Interim Measures or Relief (iii) Article 38

(d} International court’s power to allow  (iv) Article 59
a state to intervene, in case to which
it is not a party

Code :

(@ () (@ (9

O @ @ 6 6@
@ O @ @ @
G) @ @) () 6
@ @ O 6 G
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"erdter’ R afeeifa’ et s AR TR S % s dey o+ frefataa fegrl 6 9
forap giaues 272

(1) TFEER (2) &dEg

3) fafere sifiewn fagr (4) venEeE fagr

frfofea # 9 %9 O & 'Hues 9=’ & 9% Jiaues § 2
(1) fre =k (2) e (3) @ (4) @

frerferfiga wam/suE A § SR-w/3 ' 78 27872

(a) WY UL AL F A% 7 & UAHFI & STTIR &1 TG T I & & 37 W & ¢
(b) el g ufteg 12 SHadl 1946 1 sifcaa # g

(c) TR T UedrE W ad: Gen g % w9 H 59 YHR & 3 Fi v w1 Foia femr man
(d) T RS o T STRUN TS 5 F( o foru W g o+ 9 ¥ |

C R

(1) a9 (c) W 7 7

(2) (o) 3T () T = T

(3)  (a), (b), (c) & 7 T

(4) (), (b), (c) ¥R (d) Wt el e €

i1 I Gelt-11 % 1y gafed 1 3R e 5 71T % &1 990 9 a8 SW S -

-1 qE-11
(wTEas ) ( T e et % oeeT )
(a) ST =R g ar] fea e s (i) STT=R 41
(b) STRUER =Y % i &1 srereRrt g (i) TTT 62
(c) Haid U™ A1 T (il) 3T 38
(d) Fraasia e H i e @ I A | (iv) 3T 59

e o YR TRl § ed Y T SIEid 9
EJRIIES]

@ B © @
1) @ @) 6 @
@ O @ @G @
G @ @) v @
@ W O @ @
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Match List-I with List-II and give the correct answer by using the code given below :

List - 1 List-II

(Modes) (Provision)
(a) Cession i)y  Acquisition of Nationality
(b) Reprisal (ii) Loss of Nationality
(c) Good offices (iii) Pacific means of settlement of International Disputes
(d} Substitution (iv) Coercive means of settlement of International Disputes
Code :

(@ () (o (9

L @ Gv) @ (@©H
2) @@ @ @) @

3y @ @@ @ @

) (v @ @) ()

Read Assertion (A) and Reason (R) both and give the correct answer by using the code
given below :

Assertion (A) : Article 10 of the U.N. charter confers upon the General Assembly very wide
deliberative functions except in respect of those matters which are being
considered by the Security Council.

Reason (R) :  The Resolutions or declarations of the General Assembly are not binding
upon the states. They are merely recommendations.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A) is correct (R) is wrong.

(4) (A) is wrong but (R) is.correct.

Which of the following statement/statements is/are correct ?

(a) All members of the United Nations are ipso facto the members of the statute of the
 International court of justice.

(b) The International court of justice consists of 25 judges. Which are elected by the General
Assembly.

(c) The judges of the International court of justice are elected for a term of 5 years.

(dy All the decisions of the International court of justice are on the basis of the majority of
judges,

Code :

(1) Only (a} is correct

(2) (a) and (b) are correct

(3) (a) and (d) are only correct

(4) (a), (b), (c) and (d) all are correct
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TEit-1 TEI-11
(He ) ~ (auT)
(a) STEIYT () TEHAT H A
(b) gfrny @) T Al
(c) TITH (iii) sioOE foam) & fAger 1 wiagot 7w
(d) i (v) siawgsery faarl & fruer =1 serqel Areaw
hd
(a) (b) () (d)
(1) @ (Gv) @G @)
(2) (@) {8 @v) (i)
3) (@) @@ @ @)
4 @) @@ @) ()

ARRAT (A) 3R Tk (R) 391 1@ o1 g i 7o e &1 yam s W&t 3w €.

AwRYT (A):  TYFT T IR =08 10 9 faud] & g R fam W gien uisg g fa=m
foran =11 @1 ¥ HRmEW F T € e fameiets el WeH S g

& (R) : TR 3 TR A1 SO TR T A e ¥ F o A

(1) (A) 3R (R) 3F W&l € iR (R), (A) i W& =@ ¥

) (A) 3R (R) SF WA § TG (R), (A) FT W& e 6 2
(3) (A) 5% T (R) T T

) (A) e § g (R) R 2

frefafiga wer/sa F 9 sR-a/a w8 /82

(a) HIF WL F Tl UL T ST A i WAty F we ¥
(b) FALII TR § 25 e 91 € S Agws gr Faifan fey e )
(c) STUEE e & A 5 76 % HeEw & fog Faifaa 29 €)
(d) ST =yrrerd & 9t fror =il & agaa & SR W fee s €
&

(1) A (a) G T

2) (a) AR (D) T E

(3) o (a) AR (d) T T

) (a), (b), (c) 3 (d) &t =t &)
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Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :
Assertion (A) : When a state behaves in discourteous manner with another state,

International law confers right upon the state affected to resort to “retorsion’
which means retaliation.

Reason (R) :  If the International disputes are not resolved through ‘peaceful’, means then
the states resort to compulsive or coercive means.

Code :

(1) Both (A) and (R) are correct and (R) is correct explanation of (A).

(2) Both (A) and (R) are correct but (R} is not correct explanation of (A).
(3) (A) is correct but (R) is wrong
(4) (A) is wrong but (R) is correct

The *U.N. Commission on Human Rights” was established in 1946 by :
(1) General Assembly

(2) Security Council

(3) Economic and Social Council

(4) International Court of Justice

Under Hindu law, the persons descended from a common ancestor but by different wives,
are known'as :

(1)  Full blood Relations

(2) Half Blood Relations

(3) Uterine Blood Relations:
(4) No Blood Relations

Match List-I with List-II and give the correct answer by using the code given below :

List - 1 List-II
(a) Agnate (i) What was heard
(b) Shruti (i) Related wholly through males
(¢) Cognate (i) What has been remembered
(d) Smuiti (iv) Related not wholly through males
Code :

@ (k) (o (4
O O @ 6@ @
@ @ O @ (G
@) @ v @) @
@) @ @) 6 G
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AR (A) 3R &k (R) 1 98 3R 19 feu 7 e %1 7 w gl W T

ARRYT (A) :

d% (R) :

&R

e U T TR 9 & i SIfRre serR ol B df Sieed s qwifad 19
% ‘Hedig A’ fome a1d € ' 9faer ' 3 F SR Yo #a 2

Ife siqrsr faame 1 wmae ‘il mreast | @ S € 9 T e W
Serqul WiERT 1 e o ¥

(1) (A) 3R (R) TF T T 3R (R), (A) B G 0=
(2) (A) ¥R (R) 39 & € o (R), (A) F W =aren = 2
(3) (A) W& € TRy (R) T R

4) (A) T § g (R) W& ©

‘qrre afierl Heidt Wgem T ominT’ #i wren 1946 H F g T E |

(1) #Haraw
(2

(4

) $?31Wﬁﬁ§
(3) omfdE SR arvfse afteg
) FUSEE SqrEer

feg fafu % eiaria ww &t (= fog fom oferall @ srowifa st =t %e S @
(1) U & dast

(2

(4

) 2 T HaEd
(3) UHR T Haiel)
) IS Tad e T

Tair-1 ! ger-11 § gafeaa s 1 A fSu 1 52 o 7bm & '8 S S -

-1
(@) TR
(b) Fd
(c) MR

(a) (b)
) ® W)
) @) @

) (@ ()
) i) @)

() (d)
(i) (i)
(iv) (i)
(i) (@)

@) @)
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If the condition laid down under section 5(iii) of the Hindu Marriage Act, 1955 is violated,
such marriage under the Act is :

(1) Void but not punishable

(2) Valid and not punishable

(3) Void and Punishable

(4) Valid but Punishable

Under sec. 2 of the Dissolution of Muslim Marriages Act 1939, the following grounds of

divorce are available to a wife :

(a) Where abouts of the husband have not been known for a period of four years.

(b) Four years imprisonument of the husband.

(c) Husband has treated her with cruelty.

(d) The husband has neglected her or has failed to pay her maintenance for a period of
two years,

Code :

(1) (@) (9 and (@)

(2) (b}, (d), (c) and (a)

(3) (@), (), (b) and (a)

4) (@) (d). (b) and (c)

Read both Assertion (A) and Reason (R) and answer by using the code given below :

Assertion (A) : No person except the father or mother or guardian of a Hindu child has the

capacity to give such child in adoption.

Reason (R) : No re-adoption may take place under the Hindu Adoptions and maintenance

Act, 1956.

(A) is correct but (R) is false.
(A) is false but (R) is correct

Both (A) and (R) are correct

Both (A) and (R) are false
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(1)
(2)
3)

)

p—

(4

fafimra 2R <ot
faftmra fohg deta

Hfeem foaam fageq sifuftm, 1939 #1 e 2 % faid It =1 gaes & Fefafag smmr sy

g
(a)
(b)
(c)
(d)

gfa =1 9T fomm =R o6 =t sy § 79 796§
gfd &} 91 96 = He
afid 3 THE Y FI Jh R fF T

<1 out i 2ty o forg gid 5 SRt SULT 1 € ST Wb WO N T T i H farhet
W

& ;

(1)
(2)
(3)
(4)

(), (¢) S (a)

(b), (), (c) 3 (a)
(d), (), (b) 3 (a)
(a), (), (b} 3R (0)

AR (A) 3R @k (R) SR 98 an = e e e 1 yEm s s E
afimem (A): T fag = & forn an mman = sifvores ) B et ot =afo 1 €8

I ] 5% UeW § 21 T SR Tl ¥

T (R): fog Taes SR vRu-dre sifufem, 1956 % Hwta QA 9% e 781 & 9l |

(A) T & 93 (R) 7T B
(A) TTE @ fog (R) I €
(A) ¥R (R) 21 =81 €1

(A) ¥R (R) ST 7@ €
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Match List-I with List-II in the light of the Hindu Adoptions and Maintenance Act, 1956
and give correct answer by using the code given below :

List - 1

(Section)
(a) Sec.18
(b) Sec.19
(f) Sec.22
(d) Sec.23
Code :

(@ (b)
(1) (@) ()
@) @) @)
3) @ (i)
(4) () (i)

©
()
0
i
0

(d)
(B

(i)
(1v)
(i)

0
)
i
(iv)

List-11
(Provision)
Maintenance of dependants
Amount of maintenance
Maintenance of wife

Maintenance of widowed daughter-in law

“Marriages of all persons who are citizens of India belonging to various religions should be
made compulsorily registrable in their respective states where the marriage is solemnized”.
This was ruled by the supreme court in which of the following case :

(1) Sarla Mudgil v/s Union of India

(2) Gurupad v/s Hirabai

(3) Shastri v/s Muldass

(4) Seema v/s Ashwani Kumar

Give the correct answer with the help of code given below :

A "Muta’ marriage is :

(@) A temporary marriage

(b) Recognized under sunni law

(¢) Recognized under shia law

(d) A marriage for a fixed period

Code :

(1) (@), (b), (@) and (c)

() (b}, (c) and ()
(3) (&) () and ()

(4) (), (b) and (d)
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geit-1

@ ® @ @
i) ()
S

i) ()

(
(
(
@) @@

geit-11
( rayT )
(i)  onfyi # wor-grem
(ii) RO i Tl
(iii) WA =T WO-drEy
(iv) Tereram =g &1 WUT-HIg0

“fafie ol & T T 9RG F P 9 safl & e = S et Tl wel foee S
7N & § sifer ¥y ¥ fodieg o wife |’ FrAfafea © 9 fF9 ame § S=an e |3 98

oot fear o -

(1) OTE qge FHH YIGd 6H
(2) OIS M ST

(3) I 9 Yerard

(4) i s et $ER

A fau T e F TEEa § w s S

T AL e

Gl A & Siaid 9 e
o A % AW A W
fafeaa s1afy & fo foar

'gl&vE«:‘f
%

=
=1

(), (b), (a) 3R (c)
(b), (c) AR (d)
(a), () 3 (d)
(a), (b) 3 (d)

p—
a

—
2
g i T e
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Match List-1 with List-II in the light of the Hindu Marriage Act, 1955, and give correct
answer with the help of code given below :

List - I List-1I
(Section) (Provision)
(a) Section 14 (i)  Alternative Relief in divorce proceedings
(b)' Section 13-A (i) Restitubon of conjugal Rights
(c) Section 9 (i) Judicial separation
(d) Section 10 (iv) No petition for divorce within one year of marriage
Code :

@ (b)) () (d)
1) @) @ @ ()
) @ (v @) ()
3) () (i) (@) (@
) @) @ @ )

Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : A proposal may be revoked at any time before the communication of its
acceptance is complete as against the proposer, But not afterwards.

Reason (R) :  Section 5 of the Indian contract Act 1872, deals with the revocation of
proposals and acceptances.

Code :

(1) Both (A) and (R) are correct, but (R) is not related to (A).

(2)  (A) is correct, but (R) is wrong,

(3) (A) is wrong, but (R} is correct.

(4) Both (A) and (R) are correct, and (R) is the correct explanation of (A).

Which of the following statement/s is/are correct ?
Constderation is :

(a) a price for any promise.

(b) only a moral obligation.

(c) a motive for any promise.

(d) something of value in the eye of law.

Code :

(1) (a) and (c) are correct

(2) (&) and (d) are correct

(3) (b), (c) and (d) are correct

(4) (c) and (d) are correct
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feg forame sifufam, 1955 % el o Gelt-1 SR Fei-11 ) gafem ity ot =i feu 7 He =t
TR H W IR S

T -1
(emT) ( WTEEn )
(a) T 14 (i) s FrEafedl 4 SwfeTs T&d
(b) HR15-T (i) 2T SAUFR TR
() =TI (iii) ~EH JerHT |
() HRTI0 (iv) Toram % v o ¥ ofex qaw ¥ faw 9% orh @
$hd
(d () (© (@
(1) vy @ G) (i)
2 @ (v) @) @)
(3) (v} () (i) @)
(4) @) @@ @ @)

e (A) 3R 7 (R) 3 98 o A foe o e = vl o | R e

AU (A) : T GRI T WA 36 WA o6 91 il Yo < 9 g ol f 99 99y
forn <1 W1 €, Tifs 39 S90= 74l |

T (R) : g wiae sifufam, 1872 FT ¥R 5 WG H1 9199 o 3R 3% WA B 5
ARy E)

(1) (A) 31 (R) 3 =& ¥ f5g (R), (A) B deifem & &1
(2) (A) T F g (R) T B
(3) (A) 7o & TR (R) Wl &
(4) (A) #R (R) 2F ¥& T 3R (R), (A) Tt W =T

Ffafea we/FeA § 4 SA-a/3 198 /82
'Hﬁﬂﬁ'%:

et oft 99 = T

FdA Hfae e

foelt oft oM & oy RO

FHITT 1 g T HE o JoaaH 91

(a
(b
(c
(d

o

e

e T
e
T . e i it
LR

() 2T (c) Tl €1
(a) 3R (d) T &1
(b), () ¥R (d) & B
(c) ¥R (d) ¥ €1
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Consider the following statements and give correct answer with the help of code given
below :

The case of Mohori Bibee Vs Dharmodas Ghose :
(a) has laid down that a minor’s contract becomes valid when he attains majority.
(b) is the decision of the Supreme Court of India regarding minor’s contract.
(c) is the decision of Privy Council regarding voidness of minor’s contract.
(d) has laid down that contract without consideration is void.
Code :
(1) (c) and (d) are correct, but (a) and (b) are incorrect.
@)
(3) (c) is correct, but (a), (b) and (d) are incorrect.
(4)

(a) and (b) are correct, but (c) and (d) are incorrect.
(b) and (d) are correct, but (a) and (¢) are incorrect,

Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :

Assertion (A) : Acceptance is to offer what a lighted match is to a train of gunpowder.
Reason (R) : Acceptance cannot be separated from offer.

Code :

(1) (A) is true but (R) is false.

(2) {A) is false but (R} is true.

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

The defence of ‘non est factum’ is available to the contracting party who has committed
mistake as to the :

(1) Identity of the other contracting party

(2) Nature of contract

(3) Quality of the subject matter of the contract
(4) Quality of the promise made by the other party

Under the Indian Contract Act 1872 Which one of the following does not fall in the meaning
of fraud :

(1) Actve concealment of a fact.
(2) Suggestion, as a fact, of that which is not true, by one who does not believe it to be true.
(3) Positive assertion of unwarranted statements.

(4) A promise made without any intention of performing it.
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frfafaa oAl W faem & SR A9 Sy 7 %52 %1 wemda 8 9@ WS
HER Fel T YHIr =Y W
(@) 7 FEifa fora fF sraass & g fofar T dfaet 39 995k 30 W A9 & S 2
(b) oA F HaE & FaY H I=EH e & 0 T
(c) au%s & wiag &t v % gy o fufa wifae @1 fofy
(d) = Fuifia fen o wfower & famn dfasr 30 81

(1) (c) ¥R (d) W E, fohq (a) 3T (b) 7o &1
2)  (a) S (b) TE T TG (o) IR (d) 7o € |
3) (o) W % g (a), (b) R (d) oW &

(4)  (b) 3R (d) & € g (a) ¥R (c) T €

.,

ANTHY (A) iR 7k (R) 9& IR T fau 7T e ol wgmm ¥ ¥l SW T

ARIFRYT (A) : T F WH A€ & ¥ WH qEG H et F fow miv B et g8 il |
Tk (R) : rpta 1w Qg TE e S g |

He: |

(1) (A) 981 3 fhg (R) Tord B

() (A) Tew ¥ i (R) T §

(3) (A) ¥R (R) T =& T AR (R), (A) T W& =w0Em ¥

(

4) (A) 3R (R) 27 @& ¥ g (R), (A) &1 T e T ¥

fer 0 et ua & day F merd & ¥ H i e F e @ whee
ST T

(1) TH HiFEEHR U8t & gg=r

(2) wiEE = g

(3) wferr = fawg s Y TR

(4) T UW % gW fEU g T=m # U

TR st sfufTem, 1872 & s Freafefas o 9 oF-w Fu2 & o1d & @ amm &2
(1) < & 6T 9 | I

2) GIE, awE:, 30 forg e TE ¥ W 398 9 9 W favar 72 v €

(3) SAiSa HIA H THRHE SUHA |

(4) U oA S 3 U TR S T Hen e e e
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Special damages will be awarded in case of a breach of contract :

(1)

(2)
(3)
(4)

Only when the contracting parties express the same specifically as the terms of the
contract.

Always in the special circumstances leading to the formation of the contract.
Only when the court of law thinks fit in the special circumstances of the case.

Only when the special circumstances causing loss of profit resulting from the breach of
contract were brought to the notice of the party committing breach at the time of
formation of the contract.

Which of the following statement/statements is/are correct ? Give correct answer by using
the code given below :

(2)
(b)
(c)
(d)

Tort is a civil wrong for which remedy is a common law action.
Tort is exclusively a breach of contract or breach of trust,
Tort is an infringement of a right in rein of a private individual,

Tort is violation of a legal duty owed to people generally for maintenance of law and
order.

Only (b} and (d) are correct
Only (b) and (c

) are correct
Only (a) and (c) are correct

Only (a) and (d) are correct

Match List-1 (name of case) with List-Il (name of defense) and give the correct answer by
using the code given below :

List - 1 List-I1
(a) Samira Kohli Vs Prabha Manchanda (i) Plaintiff a wrong-doer
(b) Sodan Singh Vs New Delhi Municipal Committee (ii) Leave and licence
(c) Bird Vs Holbrook (iii) Act of God
(d) Kallulal Vs Hemchand (iv) Necessity
Code :

(2)
(3)
(4)

(@ () () (4
i @) @ ()
® @ Gv) (i)
(i) @@ @) ()
() () @) (@)

prepp
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i w7 B = W H Freafataa 9 foea frafa o fagy aifagfd = st e smen

(1)
(2
(3)
(4)

e aHt 59 Hiew S T vy diae &t vl | 1@ fodi ¥9 9 = w5 €

weg fas ufifeufadi 4 fomer =mw dfag = T g

Shocl a4 ST9 T Al 1 fas afifefa O 0 Sugee wweE E

Fad a4l 9ia d@faer & ST F Y 4N 5 9 99 ¥ oA 39 favm uftfrafed faee
T W 7 B % ROTEEE T 8 g8, T A T

Prefefen 8 @ F-9y/8 oo w6 #7872 99 R T 32 W W S T T aR -

(a) TUFHE TR TUHR § oo Sv=m amm S SEaRt 7

(b) TIFS FA GiAQ 9 A1 v W B

(c) oruFca frelt =afe & welsiaft arferpr =1 arfmpmon €

(d) 3TUFE GG AR UL A a8l & T@-TEE & fau awm@ fafus &1 &1 3ot T

C TR

(1) Fad (b) 2R (d) W §

(2) FFA (b) 3R () TE T

(3) HEd (a) 3R (c) W EI

(4) I (a) ¥ (d) Wt F

-1 (3R 1 W) I FE-11 (TR & W) F @y gafaa # it i 73 5 = gEm
eit-1 TqEI-11

(a) EHRI SISl FH YT HAGE! () T FH 9 T

(b) ©re fog e % feoedt T wfaf (i) gSToTa e SrFf

(©) T T AOEF (i) S

(d) FAE TAM TIER (iv) TEvFHa

@ () ) @
@ Gv) @ (@)

(i) () (v) (D)
@ @ @ @)
) O @
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Which of the following is correctly matched in relation to the defences of tort of
defamation ?

(1) Fair comment - An expression of statement of fact rather than expression
of opinion

(2) Absolute previlege - Statements made by the members of either House of
Parliament in the House or outside the House

(3) Justification by truth - It is enough if the statement is substantially true and may

not be mathematically accurate

(4) Consent - Plaintiff has not consented to the publication of defamatory
words by the defendant

Which of the following case is not related to ‘Remoteness of Damage’ ?
(1) Scott Vs Shepherd

(2) In re an Arbitration between Polemis and Furness, Withy and Co.

(3) Sirros Vs. Moore
(4) Overseas Tankship Led. Vs Morts Dock and Engineering Co.

Which of the following tort is not related to nuisance based on ‘Physical discomfort” or
interference with another’s health and safety ?

(1) Obstruction of light

(2) Injury to property

(3) Noise pollution

(4) Pollution of water and air

Match List-I1 (name of case) with List-II {capacity to sue) and give the correct answer by
using the code given below :-

List - 1 List-I1

(a) State of Saurashtra Vs Memon Haji Ismail (i) Noright to Sue as an
un-incorporated association

(b)  Delhi Transport Corporation Vs Kumari Lalita (i) Municipal law doesnotapply

(c) Brown Vs Lewis (iii) Suit against corporation
(d) Campbell Vs Paddington (iv) Suit by minor
Code :
@ ) © @
1 G v @ ()
2 @ @@ @) (@)
3 @ @ @ @)
4) (v) @) @ ()
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(2) Ty fedwifser - e % 9 A A U wed % weE g0 Ued A syl Wed &
TR 53 T a5

(3) TF gR Aty - TR v R uft Taas aRn: 9 § ik i F STaR Taew

| W@ T 8 T

(4) weAld - wfvEgE N FE T AHE OO vl % wERE % e
st A i €

fortferfiad § @ - A *afa 9 ght’ | Wi w8 ¥

(1) WHiE TH IFS

(2) Uafg AR wY, St & F A Y gemsa §

(3) fREsTm

(4) sheeEs Swvg fafhes m dOidy <fF T Seifmfm &,

frefafea § 4 H-a1 sty * difaw srgfas’ srem fadt % e T8 qen § 9338 W i
I & HEeE A T 2

(1) T&§ ¥ gaum

(2) Hufg &t afa

(3) Al weEm

(4) A TF IR TgHY

-1 (AR 1AM 1 Gei-11 (@ 1 amed) % me gafad s iR e i@ 7 g 1w
& g e s Afa

qeil-1 TqE-11
(a) WU T T A B ST (i) i e & w9 7 i &
SR
(b) Tocel TiAUR HEIeE SHH FHRT St (i) T HT AR TR
(c) TS I Afaw iy Frm & fowg gwam
(d) e 9 e (iv) 3TaaEh G ehadl

@ ® ( (@
i) () () (D)
(i) () (v) (i)
(iif) (1) (i) (iv)
v) @) @ @)

A | p—  ——
T L, i
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Read Assertion (A) and Reason (R) and answer by using the code given below :

Assertion (A) : Negligence means a conduct which creates a risk of causing damage, rather
than a state of mind.

Reason (R) : It is safe to start a bus before passengers completely get into it.

Code :

(1) Both (A) and (R) are correct, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but {R) is not the correct explanation of (A).
(3) (A) is incorrect and (R) is correct.

(4) (A) is correct and (R) is incorrect.

Which of the following statement is correct in relation to Consumer Courts ?

(1) National Commission has power to transfer a pending complaint from a District Forum
to another in the same State.

(2) State Commission has power to transfer a pending complaint from a District Forum to
another in the same State.

(3) National Commission can not have circuit benches except the permanent bench at
New Delhi,

(4) State Commission can not have circuit benches but can have two State Commissions,

Point out the correct statement :

(1) Crime is necessarily an immoral act.

(2) Crime is necessarily an anti-social act:
(3) Crime is necessarily an anti-communal act.
(4) Crime is necessarily an anti-religious act.

Four accused with common intention to kill, shot one B in the bona fide belief that B was A.
In this case :

(1) None of them is liable for the offence of murder.
(2)  All accused are guilty of causing death.
(3) Section 34 of Indian Penal Code does not apply.

{4) All accused are guilty of causing death without invoking Section 34.
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IR (A) AR T (R) F ¢ IR A= I3 71 e =1 9AT 3d U I ST
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@
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@)
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B A ! HHH I 6 WY TR AR T G e % Wy B # Mol ARd € R B, A
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(2)
(3)

T § PR off zen F orauy ¥ fow SRl 7 2
asft it ey TR e ¥ A 3

wdTa € i S 9 34 wn) T R )

(4) T TR U 34 & srade F o g it w6 % 9t 2
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Under Section 65 of Indian Penal Code, 1860, sentence of imprisonment for non-payment of
fine shall be limited to :

(1) One-half of the maximum term of imprisonment fixed for the offence.
(2)  One-third of the maximum term of imprisonment fixed for the offence.
(3) One-fourth of the maximum term of imprisonment fixed for the offence.

(4) One-fifth of the maximum term of imprisonment fixed for the offence.

Under which of the following sections of the Indian Penal Code, 1860, promoting enmity
between different groups on grounds of religion, race, place of birth, residence, language etc.
and doing acts prejudicial to maintenance of harmony is dealt with ?

(1)  Section 153
(2) Section 153-A
(3) Section 153-AA

(4) Section 153-B

A instigates B to murder D. B in pursuance of the instigation stabs D. D recovers from the
wound. Here A is guilty of :

(1) Instigating B to commit murder

(2) Instigating B to commit attempt to murder
(3) Instigating B to commit grievous hurt

(4) No offence

Under which of the following provisions of the Indian Penal Code, 1864, an assault or criminal
force used in attempting to commit theft of property is punishable ?

(1) Section 356
(2) Section 378
(3) Section 379
(4) Section 384

‘X’ gives grave and sudden provocation to ‘Y". ‘Y’ on this provocation, fires a pistol at ‘X',
neither intending nor knowing himself to be likely to kill ’Z’, who is near him, but out of
sight. “Y’ kills ‘Z’. Here Y’ has committed

(1) Death by negligence

(2) Murder

(3) Culpable homicide not amounting to murder
(4) No offence
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(1) =9 310y & fau faq sifusray wRem 1 srafy =1 snen

(2) W IAWY % Ty Fraa afysan sReW &t @iy & T

(3) T4 oTvey % foan fraa afusan swam & ety w1 O G

(4) W 90y ¥ To Frm aifirean SREm Tt srafy o diEen fewm
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(1) T 153

(2) T 153-T

(3) W 153-U T

(4) W 153-§

A, B T D % T FA F Tou SHAM@I €1 B IUTHFAE WD I IF ARIME | D, T9 & ==Y &
S ® W A Eak &

(1) B I 3 F & fau Iwam

(2) B I T F TAE FA & [ IHAA

(3) B = T T2 9gTH % U AN
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(1) T 356

(2) T 378
(3) W 379
(4) R 384
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(2) T
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Match List-I with List-II and give the correct answer by using the code given below :

List - I List-11
(a) Dishonest taking of property i)  Criminal breach of Trust
(b) Dishonestly indﬁcing any person to (i) Extortion
deliver property
(¢) Entrustment of property (iif) Criminal Misapprociation
(d) Conversion of property (iv) Theft

Code :
(@ (b) () (9

M 6 6@ G

@ @ @ (O @
@) () () @ 0

@) @ @) @ )

Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Nothing is an offence which is done by a person who, at the time of doing
it, by reason of unsoundness of mind, is incapable of knowing the exact
nature of the act.

Reason (R) :  Mistake of fact is a good defence and mistake of law is no defence.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are frue, but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R} is true.

Match List-I with List-II and give the correct answer by using the code given below :

List - I List-II
(a) Mehboob Shah Vs. Emperor (i) Mens rea
(b) State of Maharashtra Vs, M.H. George (i) Intoxication
(¢) Director of Public Prosecutions Vs. Beard (iiil) Common Intention
(d) R.V, Dudley Vs. Stephens (iv) Necessity
Code :

@ ® © @
(i) (1t) {iii) (iv)
@ Gv) @) G
@) @ @) (@)
) @ @) 6
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ATYERST (A): F9 W 190y T & W U =AT9a o 1 6 T <t 7% Fa o o fagfa &

FRO 3T F HI SF-SNF TFfa w7 A aromd g
% (R) : A2 F A2 UF 31551 9 § SR FE H qfe FE T98 T T
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(a) VIR YE I THE () emautys w:feafy
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68. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-11
(Provision for) (Sections of LP.C)
(@) Punishment for causing death or resulting (i)  Section 376-D
in persistent vegetative state of victim
(b) Sexual intercourse by husband upon his (i) Section 376-B
wife during separation

(¢) Sexual intercourse by a person in authority (iii) Section 376-A

(d)y Gang rape (iv) Section 376-C
Code
(@ () (& (4
O O 6@ G )
2y @ @) @ @)
@) @) @ () @
@ @ O @) (@

69. Give the correct answer by using the code given below :

(a) The workman has a right to approach the Labour court directly without waiting for
the conciliation proceedings and government reference.

(b) The appropriate government in respect of Corporations and Public Sector undertakings
owned or controlled by the central government will be the central government.

(c) Every industry employing 20 or more workmen is under legal obligation to Constitute
and have a Grievances Redressal Committee.

(d) The award passed by the Labour Court can be transmitted to a Civil Court for the
effective enforcement of the award.

Code :

(1) Only (a) and (b) are correct,

(2) Only (c) and (d) are correct.

(3) Only {a), (b) and (c) are correct.
(4) (a), (b), (c) and (d) all are correct.
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Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :

Assertion (A) :

The strike or lockout as the weapon has to be used sparingly for redressal of

urgent and pressing grievances when no means are available or when
available means have failed to resolve it.

Reason (R):  The employment that workmen get and the profit the employer earns are
both generated by utilisation of the resources of the society in one form or
other and they are to act as Trustees of the said resources.

Code :

(1) (A) and (R) are true, and (R) is the correct explanation of (A).

(2) {A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is false, but (R} is true.

(4) (A) is true, but (R) is false.

Match List-I with List-Il and select the correct answer by using the code given below :

List - I

(a) A strike could be legal or illegal and
illegal strike could be justified one

(b) Right of the Workmen to approach the
Labour Court directly within a period of
three years

(c) Right of the workmen to payment of full
wages pending proceedings in the
High Courts

(d) An interim or a final determination of any
Industrial Dispute

Code :
@ () (g (4

1y @) @) G @

2y @ @ @) (i)

(3) @ 3@ @) @

(4) (i (

i) (i)

®)

(iv)

List-1I

Award

Bharat Singh Vs Management of
New Delhi Tuberculosis Centre

Justice V.R. Krishna lyer

Section 2-A(2) Industrial Dispute
(Amendment) Act 2010
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et situfrEm 2010
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72. ”Although the Judicial interpretation given to the expression “Industry” by Supreme Court
in Bangalore Water Supply Case was intended to settle the test to determine its scope, judicial
trends point out that it has done more damage than good, not merely to organisations but
also to employees by curtailment of employment opportunities”. The above trend is reflected
through one of the following case :

(1) Corporation of city of Nagpur Vs Employees

(2) State of Bombay Vs Hospital Mazdoor Sabha

(3) Coir Board, Ernakulam, Cochin and another Vs Indira Devi P.5. and other
(4) Madras Gymkhana Club Employees Union Vs Gymkhana Club

73. Answer the following using the code given below :

The condition precedent to the orderof Reference under section 10(1) of the Industrial Disputes
Act is the satisfactions of the appropriate government to the following :

(a) Existence of Industrial Dispute:

(b) Apprehension of Industrial Dispute
Code :

(1) Both (a) and (b) are correct.

(2) (a) alone is correct.

(3) (b) alone is correct.

(4) Both (a) and (b} are wrong.

74. Read Assertion (A) and Reason (R) and give the correct answer with the help of code given
below : |

Assertion (A) : (a) The unrecognised union has right to meet and discuss with the
employer the grievances of Individual workman with the employer
and

(b) to appeal and participate in a Domestic Departmental Enquiry in
which its member is involved.

Reason (R) :  This is a statutory recognition of a unrecognised Union.
Code :

(1) {A) and (R) are true and (R) is the correct explanation of (A).

(2)  (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A} is false, but (R) is True.

(4) (A} is true, but (R) is False.
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75. Answer the following using the code given below :

The following are the pre-condition for acquiring Jurisdiction by the National Tribunal Under
the Industrial Disputes Act:

(a) Industrial Dispute must involve question of National importance in the opinion of the
Central Government

OR

(b) Industrial Dispute must involve question of State importance in the opinion of the
State Government

OR

(c) Industrial Disputes must be of such a nature that Industries situated in more than one
State and are likely to be interested in or affected by such disputes

OR

(d) Industrial Disputes must be of such a nature that Industries situated in more than five
States and are likely to be interested in or affected by such disputes.

Code :

(1) (a) and (d) are correct.
(2) (a) and (c) are correct.
(3) (b) and (d) are correct.

(4) (d) alone is correct.

76. Read Assertion (A) and Reason (R) and give correct answer by using code below :

Assertion (A) : Administrative law is a branch of public law in contradiction to Private
law,

Reason (R) :  Administrative law primarily deals with the relationship of individuals inter
se.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is correct (R) is incorrect.

(4) (A) is incorrect (R} is correct.
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Match List - I (name of case) with List - II (principle of natural justice) and give correct

aniswer by using the code below :

List - I
(a) Hira Nath Mishra Vs Rajindra
Medical College
(b) Union of India Vs Mohd. Ramzan

Khan
(¢) Maneka Gandhi Vs Union of India

(d) Union of India Vs Narendra Singh

@ ® () (@
(1) @) @) @ (i)
(2) (v) () (i) ()
3) (O @ @) ()
4) G @) @) )

0

(i
(i)
(iv)

List - II
Right to notice or requirement of notice

No evidence should be taken at back of
the other party

Report of the enquiry to be shown to the
other party

Reasoned decision or speaking orders

Match List - I (name of case) with List - II (name of writ) and give correct answer by using

code given below :

List - I
(a) Sunil Batra Vs Delhi Administration
(bp) U.N.R. Rao Vs Indira Gandhi

List - II
() Quo Warranto
(i) Habeas Corpus

(c) Gujrat State Financial Corporation Vs Lotus Hotels (iif) Certiorari

(d) Nalini Ranjan Vs Annada Shankar
Code :

@ ) (g (@
(1) @@ @) @ @)
2) (v @) @@ )
@) @ @ (v (i)
@ O @ ) (@)

(iv) Mandamus

In which of the following case the Supreme Court of India ruled that when the selection
process consists of only a viva-voce test without any written examination no limit need be
imposed on prescribing marks for the interview.

(1) AXK. Roy Vs Union of India

(2) A.P. State Financial Corporation Vs C.M. Ashok Raju

(3) Sambhu Nath Sarkar Vs State of W.B.

(4) P. Lakhanpal Vs Union of India
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FeEit-1 (W %1 9W) ) G-I (asfos = @1 fagi=) & o gafaa Sy o 9 e
%2 T TANT TG S S

Teil-1 TI-11
(a) gy frem o Oies Afeda Fias (@) Afew F1 aAfyewr a1 Sifea =t stavasa
(b) R HH & HIZHS TSI ©H (i) TH 9% i et § g wisw T forn
Bl
(c) BRI it T YRA W (i) TH 9 I o e femmn S R
(d) WA 9 =mm ey foe (iv) w=Ro fofa o st snew

@ () © @
(ii1) (iv) {i) (ii)
(v) ) @ 6
0 ) (W) @)
() () Gv) @

-1 (AT =1 A=) 1 Gei-11 (AR 1 T9) & W gafea wifsg o e fag g g2 =

g=i-1 11
(a) il s S Teeedt wemeH () SIRRR e
(b) ITASTRIG TN gfeq R (i) = gt
(c) T T faa fom s wiey dea (i) =ETm
(d) Sl 359 oM ST Yt (iv) TR
L
@ B © @
(1) @) @v) @ @
() (v @) @) 3
(3) @) @ (Gv) ()
4) @@ @ @) )

frafafaa 4 @ e @ 9 vYRa % 3=5am =raed 3 98 Foa e fe s === gt o fet i
fafea wian & form e Hifee Sifg 9 & SR % foag ofw friifa s 7 e dmn e =i
IETIRA TEl & ?

(1) . T T GG G

(2) vy T fod Fm 99m L uH. STl TS

(3) WYY TR 9 IiTeH S [

(4) . TRITIRE SETH R 99
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Which of the following statement/statements is/are correct ? Give correct answer by using
the code givén below :

(a) Absolute discretion is a ruthless master.

(b) Where reasonable conduct of government official is expected, the criterion of
reasonableness is subjective and not objective

(c) Every action of the executive government must be informed with excuse and should be
arbitrary.

(d) Exercise of discretion is an inseparable part of sound administration.

Code :

(1) Only (a) and (b) are correct.

(2)_ Only (¢) and (d) are correct.

(3) Only (b) and (d) are correct.

(4) Only (a) and (d) are correct.

Which of the following Acts shall be amended as per Section 58 of the Lokpal and Lokayukta
Act, 2013 ? Give correct answer by using the code given below :

()
(b)
(©)
(d)

Commission of Inquiry Act
Central Vigilance Commission Act
Code of Civil Procedure

Central Bureau of Investigation Act

Code :

(1)
2)
3)

(
(
(4)

(a) and (b) are correct.
(c) and (d) are correct.
(a) and (d) are correct.

(b) and (c) are correct.

Which one of the following is incorrect ?

(1)
@)

(3)

(4)

Montreal protocol is related to Hazardous Waste.

The Precautionary Principle and Polluter Pays Principle are essential features of the
principles of sustainable development.

The Stockholm Declaration of 1972 has been described as the Magna Carta of our
environment.

No state has a right to use or permit the use of its territory so as to cause injury by
fumes in the territory of another. '
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frafafaa oy § @ SF-T1/8 98 /8?2 9 feu e s o vl W 1@ T T

(a)
(b)

T TR e =t § )

e THHT it § anfd SR @) S S 9 € olifew W wde favafrs fa E |
i g

FRIHRT TR 6l TdF FEAE Bl & & T Ghag w1 w0 AR 3§ THEE g4 18 )
foermTTeR &1 WART T YO W1 STgYERoi W ¥

Fad (a) 3R (b) T T
e (c) 3R (d) W €
FIe (b) 2R (d) W T
Fe (a) AR (d) T E)

SR AR EehrgEa SRFEH, 2013 Hi 9 58 % STIER Frtataa § 9 o ifufem J e
g ? 2 f e s @ v wEd S E

(a)
(b)
(c)
(d)

6

(1)
2)
(3)
()

S ST sty

(a) 31 (b) T ¥
() 3R (d) T E1
(a) 3R (d) & 1
(b) 3R (c) W& F |

Preafafies § 9 -9 o 2

(1)
(2)

(3)
(4)

Hifzae NEsd TaEm i § getua 21

wefaardt fagra @i ygumr Sam aten Jram S € fagra Saeita fawm %) eifad
fordioand €1

T WIS S0OT, 1972 1 TR THiEL0 1 ARl % T T

T off T5g 1 AU S[9FT I 39 YHE TAR FA I TE9RT T $1 AT 7 5 IHr 72
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“The State is the trustee of all natural resources which are by nature meant for public use
and enjoyment and that Indian legal system includes the Publi¢ Trust Doctrine as a part of
its jurisprudence”
The Supreme Court of India has observed the above in one of the following case :
(1) T.N. Godavarman Thirumulpad Vs Union of India
(2) Indian Council for Enviro-Legal Action Vs Union of India
(3) M.C. Mehtha Vs Union of India
(4) Shri Sachidananda Pandey Vs State of West Bengal

Match List - I with List - IT and give correct answer by using the code given below :
List - I List - II

(a) No state has a right to use or permit the use of (Iy  Basel Convention
its territory so as to cause injury by fumes in the
territory of another

(b) The Economic Benefit must substantially exceed  (if) Trial Smelter Case
its Environmental Cost

(c) The present generation has no right to deplete (i) Environment Impact
all the existing forest and leave nothing for the Assessment
next and future generation
(d) Transboundary Movements of Hazardous Wastes (iv) Inter Generational Equity
and their Disposal
Code :
@ () () (d)
O O @ @ @
(2) (i) (i) @{dv) (i)
(3) @ @) @v) @
@) @ @) @) @)

Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : It is the duty of the state to devise and implement a coherent and
co-ordinated programme to meet its obligation of Sustainable Development.

Reason (R) :  Adherence to the principle of Sustainable Development is now a
Constitutional requirement.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both .(A;} and (R) are correct but (R) is not the correct explanation of (A).
(3)  (A) is correct but (R) is wrong,

(4) (A) is wrong but (R) is correct.
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Which of the following do nof come under the powers and functions of the Central Board as
provided Under the Air (Prevention and Control of Pollution) Act, 1981 ?

Planning and execution of National programme for prevention, control and abatement
of Air Pollution.

Co-ordinating activities of State Boards and resolving disputes among them.
Fixing standards of Quality of Air.

Making recommendations to the State government for removal of State Board which is
defaulter in discharging its duties under the Act.

In which one of the following case the Supreme Court of India held that right to access to
drinking water is fundamental to life and it is the duty of the State under Act 21 to provide
clean drinking water o its citizens ?

(1)

Vellore Citizens Welfare forum Vs Union of India
AP, Pollution Control Board Vs M.V. Nayadu
M.C. Mehtha Vs Union of India

Karnataka Industrial Area Development Board Vs Shri C. Kenchappa

Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : The provisions concerning Human Rights run throughout the U.N. Charter

‘like a golden thread’.

Reason (R) :  Much of the credit for this goes to the determined lobbying by
non-governmental ‘organisations at San Francisco Conference.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(A} is correct but (R} is wrong.

(A} is wrong but (R) is correct.
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Which of the following statement/statements is/are correct ?

Under its terms of reference, the UN Commission on Human Rights was directed to prepare
recommendations and reports on :

(a) An International Bill on Human Rights.

(b) International Conventions or declarations on civil liberties; the status of woman, freedom
of information and similar other matters.

(¢) The protection of Minorities.

(d) The prevention of discrimination on the basis of race, sex, language or religion and
other matters concerning Human Rights,

Code :

(1) Only (a) is correct.

(2) Only (b) and (c) are correct.

(3) Only (a), (b) and (¢} are correct.

(4) (a), (b}, (©) and (d) all are correct.

Match List - I with List - I and give the correct answer by using the code given below :

List - I List - I1
(@) Human Rights Council (iy 1993
(b) The Universal Declaration of Human Rights (i) 2006
(c) The International Covenant on Civil and Political Rights (i) 1948
(d) World Conference on Human Rights, Vienna (iv) 1966
Code :

@ b © (d
O O @ @ @
@ @ @ @ o
(3 @ @) )

@G @ W)
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91. Which of the following statement/statements is/are not correct ?

(@) The position of U.N. High Commissioner for Human Righis was created by the Economic
and Social Coundil.

(b) The High Commissioner was to be appointed by the Secretary. General subject to
approval by the General Assembly.

(c) The term of office of High Commissioner was five years.

(d) The High Commissioner’s principal location would be in New York.
Code :

(1)  Only (d) is not correct.

(2) (a), (c) and (d) all are not correct.

(3) (), (b) and (c) are not correct.

(4) (a), (b), (c) and (d) all are not correct.

92.  Which of the following statement/statements are correct ?

(a) The Chairperson of the National Human Rights Commission shall be who has been the
Chief Justice of Supreme Court.

(b) The Chairperson and the other Members of National Human Rights Commission are
appointed by the President of India after consultation with Prime Minister.

(c) Chairperson and other Members of National Human Rights Commission are eligible
for re-appointment.

(d) The Chairperson and the other Members of the Commission can be removed on the
Recommendation of the Law Minister of India.

Code :

(1) Only (a) is correct.

(2) () and (c) are correct.

(3) (a), (b) and (c) are correct.

(4) (a), (b). (¢) and (d) all are correct.
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Match List - I with List - II and give the correct answer by using the code given below :

List - 1 List - 11
(Provisions) (Sections of the Protection of
Human Rights Act, 1993)
(a) Constitution of National Human Rights (i) Section 10
Commission
(b) Constitution of State Human Rights Commission (if) Section 12
(c) Functions of the National Human Rights (iii) Section 3
Comimission
(d) Procedure of the Commission (iv) Section 21
Code :
@ ® © @
1) @ @ @) )
(2) (@@ @) Gv) @)
(3) ) @ @) (@
4) @@ @) G @

Which one of the following is incorrect ?

Under the Partnership Act, a minor who has been admitted to partnership when attains
majority should adhere to the following :

(1)

(2)
(3)

(4)

Issue a public notice that he has elécted to become or that he has elected not to become
a parinmer

Option must be exercised within 2 months on attaining majority

When the minor opted to become a partner his rights and liabilities as a minor continue
upto the date on which he becomes a partner

When the minor opted not to become a partner his rights and liabilities shall continue
upto the date on which he gives a public notice

Maltch List - I with List - II and select the correct answer using the code given below :

List - I List - IT

(@) Mutual Rights and Liabilities of Partners (i)  Section 34 of Partnership Act
(b) Dissolution of Partnership (i) Section 13 of Partnership Act
{¢) Retirement of a Partner (iii) Section 39 of Partnership Act
(d) Insolvency of a Partner (iv) Section 32 of Partnership Act
Code :

(@ (®) (o (d)
M 6 @ v G
@ @ @) v 6
@) @) @@ @ )
@ O @ @) )
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96. Read Assertion (A) and Reason (R) and give the correct answer with the help of code given
below :

Assertion (A) : The surety has no right to restrain execution against him until the creditor
- exhausted all his remedies against the Principal Debtor.

Reason (R) :  The Liability of the surety is co-extensive with that of the Principal Debtox,
unless it is otherwise provided by contract,

Code :

(1) (A) and (R) are true and (R) is the correct explanation of (A).
(2) (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is false, but (R) is true.

(4)  (A) is true but (R) is false.

97. Which one of the following is incorrect ?

Under the Sale of Goods Act, to make the buyer liable for neglecting or refusing delivery of
goods the following conditions must be fulfilled : | |

(1) The seller was réady and willing to deliver the goods.

(2) The seller requested the buyer to take delivery.
(3) The seller informed the buyer to ignore the delay and take delivery.
(4) The buyer did not, within a reasonable time after such request take delivery of the

goods.

98. Read Assertion (A) and Reason (R) and answer by using code given below :

Assertion (A) : Under the Company Law, though any outsider is presumed to be aware of
the documents which are publicly accessable, but not the internal
proceedings of which he can not reasonably aware of, because those are
not accessible to the public.

Reason (R) :  The Doctrine of indoor management evolved as a partial exception to the
Doctrine of Constructive Notice and the rule was laid down in Royal British
Bank Vs Turquand.

Code :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) {A) is true but (R) is false.

) (A) is false but (R} is true.



